All symbols in this document are used in I#TEX’s math mode. There are two types of math modes: “in-line” math

mode and display math mode. Mathematical content surrounded by dollar signs
a part of surrounding text. If we want mathematical content to be displayed on
content by \[ and \], for example \ [\pi\] will show 7 on a separate line.

(for example $\pi$) will show as
a separate line we surround that

o \alpha (8 \beta v  \gamma ¢ \delta € \epsilon ¢ \varepsilon
¢ \zeta n  \eta 0 \theta ¥ \vartheta ¢ \iota k  \kappa
A \lambda p \mu v \nu & \xi m  \pi w \varpi
p \rho o \varrho o \sigma ¢ \varsigma 7 \tau v \upsilon
¢ \phi ¢ \varphi x \chi ¥ \psi w \omega
I' \Gamma A \Delta © \Theta A \Lambda = \Xi II  \Pi
¥ \Sigma T \Upsilon ¢ \Phi ¥ \Psi Q2  \Omega
Table 1: Greek letters
N \cap U \cup \ \setminus \cdot x \times + \div
o N\circ V \vee A \wedge ® \otimes & \oplus
Table 2: Binary operation symbols
< \leq > \geq < < > > = = # \neq = \equiv
~ \approx =~ \simeq ~ \sim >~  \cong L N\perp | \mid | \parallel
C \subset DO \supset C \subseteq 2 \supseteq € \in > \ni & \not\in
Table 3: Relation Symbols
+— \leftarrow +— \longleftarrow 1T \uparrow
< \Leftarrow <= \Longleftarrow 1+ \Uparrow
— \rightarrow — \longrightarrow J  \downarrow
= \Rightarrow —> \Longrightarrow J  \Downarrow
< \Leftrightarrow <= \Longleftrightarrow {f \Updownarrow
—  \mapsto —  \longmapsto /" \nearrow
Table 4: Arrow Symbols
... \ldots \cdots \vdots \ddots V \forall d \exists
- \neg 0 \emptyset oo \infty / \prime [ \Box 0 \partial
Table 5: Miscellaneous symbols
> \sum IT \prod J \int
(| \bigcap |J \bigcup V\/ \bigvee A \bigwedge
Table 6: Sum-like symbols
\arccos \cos \csc \exp \limsup \min \sinh \arcsin \cosh \1n \sup \arctan
\cot \det \lim \log \tan \coth \dim \inf \liminf \max \sin \tanh
Table 7: Functions
a \hat{a} a \bar{a} @ \dot{a} ad \vec{a} d \ddot{a} a \tilde{a}

Table 8: Math mode accents



( ) ) [ ] ] { M b\
| \lfloor | \rfloor [ \lceil ] \rceil ( \langle ) \rangle
/7 \ \backslash | | I\l

Table 9: Delimiters.

To allow I#TEXto determine the size of parenthesis use \left ( and \right), and similarly for other brackets. You
can force the size by using \bigl( and \bigr), \Bigl( and \Bigr), \biggl( and \biggr), \Biggl( and \Biggr).

—_— o~ (_

abc \widetilde{abc} abc \widehat{abc} abc \overleftarrow{abc}
H —_

abc \overrightarrow{abc} abc \overline{abc} abc \underline{abc}
~~

abc \overbrace{abc} abc \underbrace{abc} Vabc \sqrt{abc}

n ) b

Vabc \sqrt [n]{abc} 1 f g—yi \frac{abc}{xyz}

n—oo

0 1
lim a, \lim_{n\to\infty} a_{n} Zr" \sun_{n=0}"{\infty} r~{n} / z?dr  \int_{0}~{1} x~{2} dx
n=0 0

Table 10: Some other constructions

In the last three examples I used \displaystyle after $ sign.

We will often use black-board-bold font face. To get R, type ${\mathbb R}$. But, entire alphabet is available:
A? B? C? ]:D)7 E7 F? G7 H7 ]17 J? K7 L? M7 N7 ([))7 IED? Q7 R? S7 T? U? V? W7 X? Y? Z



